$ @ o = trois fractions, ordre des opérations

Nom: Date: Note:

1 1 1

— T 53%5= 6+2—l:

6 2 2 6

1 1 1 1

X -4 — = 34— =

1753 A
2 1

56 -8+ == —_ — 48 +8 =
5 2

1 3 1 2 1 1

_ X _— - = _— X e — - =

2 2 2 5 2 2
1 1 1 1

45 +5+ - = —F+ =X ==

2Ty 27373

www.snowmath.com


https://www.snowmath.com

trois fractions, ordre des opérations

Nom
111 1
6 273 '
1 1.1 3
— X =4 - = —
475 4 10
2 31 2
568+ = =" =72
5 5 5
13 1 1
— X - — - = =
272 2 4
137 1
455+ = =9-
4 4 4

Date: Note:
1
6 6 6
1 7 1
9+3+-=-=3=
2 2 2

b oggeg= o5l
S —48+8=(-2)=(55)
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